II.

1.

fil 1

fi] 2
fil 4
fil 5

fiil 6

il 1

fil 4

fil 5

il
12

13
fil4

15

i =N

4

N6 EE
e El— iRk (AEBIT ) s

£
a VA=A b VR —2A c U
d ADP(TF 3"V i) | e BT — R
3 M3 f K& (H)
1) 2 2)| g kiR SR (COy)
h 3 i 4 j 4 k 3
VL kS 3 BT EER 2 M7 6
3,4,6,8 Mo | a 2 b 5 3 6
1) ° 2) 3,7
0 E : : -
108 104 102 1 10?2 10 108
¥EE (cd/im ?)
1) A S AR A B PRI
2) | e 2 f 1 g 2
1,4,5
WMl E|IX|E|EBIR|IN|EZ|HB|E|T|D| 0] . X —|E
Tl T|. [ H|E|W|C]|T|X|T|&A|E|L|TIE|E|R]|D
Al ~[H|lT|IW] <],
3,4
1) 4
2) | vl Al v Al iX|ElE| Tl 2|/ TIEIx]D].
6 6 3




V. fij 1
12
13
14

15

650
7 O A JH
3 —- 14 — 4 — 6 — 3
1) VSO ERNGZ 2) 1, 4
e SN
wfn: Bfh=2:1




